VR%304-6 A 8 H
A B BT A S AR

ERR294EE 3 H i IE T HIZ DWW T

1 MiETHROMEE
(1) SERR29MF MBI — R SFHIE T (B8 &)
(2)  SERR294F FERA B T [E BRAd R R P 2 R TR B SEHIE T (554 &)

2 MHIETEOHAE
(AT - TH - %)

SERR294EFE | SR 294E | SRk 284F B g
S HMIERE | REtvEEE | 3 HMiE®% - -
FEIREE PETE R
x4 mabppg | oL | B
(1) (2) (3) (4) [(4)/(3)
[(2)-(3)] | *100]
—IREE 3,100| 3,526,030 3, 470, 714 55, 316 1.6
Rl A 1,312] 1,965,038 1,973,528| A 8,490 A 0.4
1IN
E?f%ﬁga%ﬁ%&ﬁ¢§%” — 695, 925 719, 193| A 23,268| A 3.2
I~ H
ESIE e RS
N e A 1,312 273, 025 284, 251/ 11,226] A 3.9
G ESELE T EFs — 99, 893 105,138 A 5,245 A 5.0
EEFEELEST _
e 41, 026 40, 634 392 1.0
I LR R R Bl 2 B — 792,717 763, 405 29, 312 3.8
1% B v thin 2 1= R AR B
o 62, 452 60, 907 1, 545 2.5
& G 1,788] 5,491, 068 5,444,242 46, 826 0.9

3 MHIETR OB

(1) AHETHE O T #
ABEIOMIETRIE, [ERERRBR T RZIRATRISEHI BN T, BEROH
(2 Z DRI DIUZFE, PRI FEICIR TN R T L 72 5 RIAB TH 5 Z
EMD | RFHESIRDREIZ OV THIE TR ZRAT 5B D,



(2) WEFHEONE
[ &% & ) (BN TFH)
R T
st w5 A i E = % e | R
SRS = H N
¥ 4 o | Fom | R
- Hp S 2R PR R 2 B AR HH 4
— % %@&“jﬂk 401 | 1 (g 3, 100 3,100
" < FHIEAESE . 2RI A OB RE 9 R FARE S
5 idl k-4
h ;9%””? 50 1] 1 | e A 1,312 A 1,312
« FHIEAEE © FERE HAA AT X D IREE
[ & A ] XEEMRZRG (BA7 )
%) b/ N R
F| B OE R | | ; % TR | [ - x
TR NE g i i M % WA B ik | coots | —nm
F 4
HIAEJE il &
— % RS ER 18| 1 | 1 |fiisd: 3, 100 3, 100
< FHIEBEE - ATEGRERIC K D aEn,
R B i [E
S 1|13 | e A 4,412 A 4,412
Z PO | e 2 HIAZAT & %
EZS LA L éﬂrx}‘/g\%‘l‘?(ﬁ%]\(f
o ;’;9%””%5 6 1 1 (ﬁﬁf‘%\”ﬁ‘*]\ 3. 100 3. 100

- AHIERREL © 2N A DU O PRFHIE S




